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#include <stdio.h>
#include <conio.h>
#include <io32.h>
union _tag{

long 1;

char c[4];

s

#define ADR 0x240
#define CHLS 8

int count;
float buf[80];

void main(void){

int ModeData =5;

union _tag ClockData ={ 999999 };
union _tag CountData={ 9 };
Int AiData,i,Count =0;

int AiVolt;

outp (ADR+6,0) ;
outp(ADR+6,1) ;

outp (ADR+7 ,ModeData) ;

outp (ADR+6,2) ;

outp (ADR+7,ClockData.c[0]);
outp(ADR+7,ClockData.c[1]);
outp (ADR+7,ClockData.c[2]);
outp (ADR+6,3) ;

outp (ADR+7,CountData.c[0]) ;
outp (ADR+7,CountData.c[1]);
//printf (" ")

for(i=0;i<CHLS;i++)
printf(" ch¥d ",i);



printf ("\n");

outp(ADR+2,CHLS-1) ;
count=0;

do{

if (inp (ADR+2) &2){
count++;
for(i=0;i<CHLS;i++){
AiData=inpw(ADR) ;
AiVolt=(float)AiData *20/4096-10;
if (count%10==9){
printf ("%d.3fv",AiVolt);
}

//Buf [count++]=AiVolt;
}

if (count%10==9){
printf("\n");

count=0;

}

if (kbhit O)){

outp (ADR+7,1) ;

break;

}

}

}while( inp( ADR+2 ) & 3);
}

oboooooooo

if (count%10==9){
printf ("%d.3fv",AiVolt);
}



obooooooboboooobooboo1oo00o00boo0ooon
obooooobooooborobOobooooboon

int ModeData =5;
union _tag ClockData ={ 999999 };
union _tag CountData={ 9 I};
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